d’c/dp_dy [pb/GeV]

Ratio to CMS

T
o i
o O o

SN (€3] ()]

=
o
w

13000 GeV pp Jets

I T T T I R l j
g Jet P (CMS jets) =
C =
E E
C =
- =
- =
- =
- . E
= n =
= m CMS E
= - Pythia 6.428 355 _
E . =
= 0 Pythia 6.428 356 m =
=- —A— Pythia 6.428 370 el
= Pythia 6.428 379 "
- ) =
= Pythia 6.428 ambtl 3
- —— Pythia 6.428 z2 =
- =
j_ | | | | | Lo | —f
:l ! T T T i 1 ] ' ]
- Eo .
| - X | 1 ]
- T 4 : /\(s/ ]
| A — - _;_Tk N\ A _|

| 1 1 1 1 1 1 1 | 1

102 103

Rivet 3.1.10, = 1.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


